TABELA ROBOT ZIEMNYCH

odcinek A-B
, : Srednia s zuzycie nadmiar
powierzchnia ) , objetosc¢ )
powierzchnia | odle- na robét
km [m?] [m?] glosé [m?] miejscu [m?]
w N w N w N m’ | W N
0+006,22 4,01 0,00
394 | 0,00 | 7,78 | 30,65 | 0,00 | 0,00 | 30,65 | 0,00
0+014,00 3,87 0,00
3,80 [ 0,00 | 16,77 | 63,64 | 0,00 | 0,00 | 63,64 | 0,00
0+030,77 3,72 0,00
3,83 [ 0,00 | 15,00 | 57,45 | 0,00 | 0,00 | 57,45 | 0,00
0+045,77 3,94 0,00
3,95 | 0,00 | 4,23 | 16,69 | 0,00 | 0,00 | 16,69 | 0,00
0+050,00 3,95 0,00
3,86 [ 0,00 | 3,56 | 13,74 | 0,00 | 0,00 | 13,74 | 0,00
0+053,56 3,77 0,00
4,01 | 0,00 | 16,44 | 65,84 | 0,00 | 0,00 | 65,84 | 0,00
0+070,00 4,24 0,00
4,29 | 0,00 | 24,00 |102,96| 0,00 | 0,00 |102,96| 0,00
0+094,00 4,34 0,00
4,38 | 0,00 | 26,00 |113,75| 0,00 | 0,00 |113,75| 0,00
0+120,00 4,41 0,00
440 | 0,00 | 7,38 | 32,44 | 0,00 | 0,00 | 32,44 | 0,00
0+127,38 4,38 0,00
4,32 | 0,00 | 15,00 | 64,80 | 0,00 | 0,00 | 64,80 | 0,00
0+142,38 4,26 0,00
4,32 | 0,00 | 22,96 | 99,07 | 0,00 | 0,00 | 99,07 | 0,00
0+165,34 4,37 0,00
4,09 | 0,00 | 8,70 | 3554 | 0,00 | 0,00 | 35,54 | 0,00
0+174,04 3,80 0,00
3,87 | 0,00 | 3,96 | 15,33 | 0,00 | 0,00 | 15,33 | 0,00
0+178,00 3,94 0,00
3,656 [ 0,00 | 6,04 | 22,05 | 0,00 | 0,00 | 22,05 | 0,00
0+184,04 3,36 0,00
3,64 [ 0,00 | 13,96 | 50,81 | 0,00 | 0,00 | 50,81 | 0,00
0+198,00 3,92 0,00
RAZEM 191,78|784,76| 0,00 | 0,00 |784,76| 0,00




